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MATHEMATICS
1. XINOIT 3epcd n ISV B3P S, = . (_tan_x___]
n 4. xlin{) \jm_z afalloveb)

n’ + n SoOR, ITROIT BeRodd WRRE,

(A) 2 (B) 3
EASS (€) 4 (D) 6
(A) 4 (B) 1
€ 2 (-9 S.  “owp, IO To, x ey y rert

x+y=y+x" 8 wwicd Jougs

2. Ix+my=nBDlx+my=n aobs
y olge i T

QOR Jowdeadnisd LowmAIad
(A) o WIDE Zod, x DY y ner,

(A) I'+mm'=0

(B) Im'=ml . o

i T (B) fusy I8 Xoad, x DR y riert, ‘
m 1=

(D) /m'+ml'=0 ) S e R — |

f%ﬁiﬁm?&gﬁﬁr

(C) doxy IDE X0, x I y rort, - orivedn

X+ty#ytx ‘
3. Tosood x? = 4ay odw (2, 1) Rorda
(D) doy IS Zoaj, x DR y riert,

peE T Tttt TPODL oW

B X=-y=y-x
gl 6. 6,7,8,9, 10 T30 wnTE Lwosodn
(B) 4 '
© 2 @ 2 ® 1o
‘D) 8 (C) 2 (D) 10
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MATHEMATICS

1. If the sum of n terms of an A.P. is % 2 [ tan x . ] AR

given by S_= n? + n, then the common x—>0\\2x+4-2

difference of the A.P. is (A) 2 (B) 3

(A) 4 (B) 1 © 4 (D) 6

© 2 (D) 6

5.  The negation of the statement “For all :

2. The two lines Ix +my=n o real numbersxandy, x +y=y+x"is

I'x + m'y = n' are perpendicular if (A) for all real numbers x and .y,

(A) '+mm'=0 x+tyzy+x

(B) /m'=m/ (B) for some real numbers x and vy,

(C) Im+I'm'=0 x+y=y+x

(D) Im+ml'=0 . (C) for some real numbers x and

xXt+ty#y+tx

(D) for some real numbers x and y,
3.  If the parabola x? = 4ay passes through

X=y=y-x
the point (2, 1), then the length of the
latus rectum is
(A) 1 _ 6. The standard deviation of the data
B) 4 6,7,8,9,101s
© 2 (A) 2 B) /10
(D) 8 © 2 (D) 10
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7. WTOID  [Iew 1Y XS, 10. 7oA = {a, b, c} “ooR, fies A T e
PUSRT A, B, C nsb P(A) = 2P(B) = QR 8,030 k), o, risd
3P(C) 3, 3 &rieeand P(B) oo
(A) 3 (B) 36
@ T ® © ¥ @) 3
©F i oo
1. fix)=cos™'\x -1 ov33 3 §e3,3
8 R & nre {1, 2, 3} @ Dewrs (A) [1,2] (B) [0,2]
Towogsen T, e, R R = {(1, 1)} ) 1.1 (D) [0, 1]
soor, R

(A) =,3T0S B Inond - =
12. cos (sin‘l 3t cos™! 5) S Bedodo

(B) 303 03 oxs .

(C) Rstmorid o mome (A) 0

(B) 1

© -1

(D) ©A3TQTO[Y0Y,

(D) ==wond =ng,

9. emsua‘ixf:[Z,m)-—>R§gtﬂx)=

X2 — 4x + 5 20T a0, %N, f 3

339, HOTN .91
(A) (—o0, 20) 13. A= ( 0 10 J s A4 oo
1 00
(B) [1, )
©) (1,») ' (A) A (B) 2A
(D) [5,) «©) 1 (D) 4A
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7. If A, B, C are three mutually exclﬁsive 10. If A = {a, b, c}, then the number of
and exhaustive events of an experiment binary operations on A is
such that P(A) = 2P(B) = 3P(C), then (A) 3 (B) 36
P(B) i It
(B) is equal to ©) D) 3°
1 2
A 11 ®) 17
3 4 11. The domain of the function defined b
(@it ® T S
f(x) = cos[fx — 1 is
(A) [1,2] (B) [0,2]
8. If a relation R on the set {1, 2, 3} be © 1,1 (D) -0, 1)
defined by R = {(1, 1)}, then R is
(A) Reflexive and symmetric 12 " JakiE of
(B) Reflexive and transitive % %
cos(sin'1 3+ cos™! 5) is
(C) Symmetric and transitive
(D) Only symmetric (A) 0 =7
(B) 1 {~brivein
©) -1
9. Let f:[2, ®) — R be the function )
(D) Does not exist
defined by f(x) = x2 — 4x + 5, then the
range of f'is
Q0 0 1
(A) (—o0, )
13. IfA=| 0 1 0 | then A%isequal to
(B) [1,) 1 0 0
(©€) (1,=) (A) A (B) 2A
(D) [5,) ©) I (D) 4A
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14. A, B o IDmbdrod P 17. aja,a;...... ay X0
maq,eomnqp DR B oo womd i o A
DO IR Y T, ABA o3 Zeqongpyt| % % % | meiden
& % &
(A) monmq)s
(A) 3, +a)
(B) 3n3, InY¥
(B) a, +ag
(C) soor I ¥ © log, (log,6)
(D) omswon IR ¥ (D) 1
18. A o0 3¢ Tedrod SInir=nes fodnnmd
15 (2l)A [10] o0 SN § : ‘
£ = A
32 0-19% % R |A| = 5 9o |A adj-A| ot
30 (A) 5 (B) 125
: (ZIJ ! (2_'J (C) 25 (D) 625
( ) 5. % ( ) -3 2 Egﬁigu?ag@r
i TIvean
1 — cos Kx
32 2 - g e E
XSsinx .
i [3 -2)(0) (3 2} 19. flx)= 1
) , ifx=0
ghiy gl ey 39,800, ATRN VI x = 0 WOTDIIY,
16 fix)=| x-a x2-x c+x |uxd vauFmmn K o tddodn
- - 1
x-b x-c 0 (A) if B) 0
A = -
(A) f(1)=0 (B) f(2)=0 ©) +2 D) +1
(€©) fl0)=0 (D) f-1)=0
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If A and B are square matrices of same
order and B is a skew symmetric

matrix, then A'BA is
(A) Symmetric matrix
(B) Null matrix

(C) Diagonal matrix

(D) Skew symmetric matrix

R LR
{32 —-Ol,tente

matrix A is
T
(A) 3 2 (B) cafits
. [-2 l] [2 —-1)
(©) B =5 (D) 3 2

X —x

X~a

a+x bix

If fix) = ¥2-x ec+x
xX—cC 0
then

(A) f(1)=0 (B)

€ fO=0 (D)

f(2)=0
fi-1)=0

17.

ls.

19.

Ifa, a,a,....... ag are in A.P. then the
8 -8 B

valueof | 83 3 3 |is
a, ag aq

9

(A) 5(a +3ay)

(B) a *ag

(C) log, (log.e)

(D) 1

If A is a square matrix of order 3 and

|A| = 5, then |A adj-A| is

(A) 5 (B) 125
) 25 (D) 625 =
A~ BuestionPaper
{~ Privein
1 -cos Kx .
x8inx 7 ifxe0
If f(x) = 1
) , ifx=0

is continuous at x = 0, then the value of
K is

1
A) (B) 0

(C) 2 (D) +1
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elw‘x__ : i gX.
20. ﬂx)={ _8”“"' [ ifx=0 23. (xe)Y -e’umﬂdx (ov o)
0 , ifx=0 '
og x
WIFT  SBOE R LOWIO A T+ logxp
8,oN 1
(B) (1 + log x)?
(A) 131 2
X
(B) 1s3-1 © W+ log
‘ e
D
(C) -1a%~1 (D) x(y-1)
(D) -131
Eias d?
24, y=2" 1+;emmza_-¥om
: o (A) 6n(n+1)y
= x +
21, 2F+2Y=2""Yumnt g oot ®) nm+1)y
5 Y d
(A) 2~% (B) -2 (©) xaf-}-y E‘ﬁiw%?@f
2)' = 1 L~ Privein
©) 27y ) D) y
25. QU 38,Teadnish 2r = y? I 2xy =K
: 2x
22, flx)=sin [1 3 Iz] mr £1(33) oo TOXT woRIsmn geormon K2 3
1 | oo
(A) -3 (B) 3
: l A) 47" B 22
©) N (D) B ©) 2 (D) 8
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20. The right hand and left hand limit of dy

23. If(xe)Y =¢*, then dx 18

the function
log x
¥ A g
filx) = eelf.r_,_ll , ifx#0 4 (1 +log x)?
0 , ifx=0 |

i B rcrerzey
are respectively (1log)

(A) land1 0 A
(B) 1and-I '
(C) -land-1 ® -
(D) —1and 1
24. 1fy=2xn+'+%,:henx2£_1,is
21. 1f2x+2Y=21+V.thengfis (A) 6n(n+ )y

(A) 2% (B) -2v-*% (B) n(n+ 1)y

d
2Y-1 © xa‘fﬂ
(G 265 (D) 2% _ |
(D) vy
=l —-—2x ; 9
22. Iffi)=sin” | 755/, then f'(\/3) is 25, If the curves 2x = y? and 2xy = K
; l intersect perpendicularly, then the
(a) =3 ®) 3 value of K2 is
1 1 (A) 4 (B) 2v2
©) ﬁ (D) ‘—{'3' Ve
<€ 2 (D) 8
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log.x 3x+ 1
26. x>0wmn, — & noxg tdedo 29. f(x—l)(x—Z)(x—S)dx
(A) e (B) 1 =Alog [x— 1| +Blog |x - 2| + C log
1 1 |x - 3| + C &T0 eag=TON A, B 2
5 e D) k2
C ¥ t3eozn

: () S,<~L=8 (B T -5
27. PIFpoTT B 5% doz!a%wipd (Tlatel = 5. e T

e | WyerdFT TOTRIOS BYYY
A) 10% g
s i 30. fesmxsinzxdxmsdom
(B) 60%
A) 2e8™ (sinx-1)+C
©) 6% (A) ( )
(B) 2™ (sinx+1)+C
(D) 20% ;
(C) 2™ (cosx+1)+C
D siny ,Rg’ziammw
(D) 2e"™(cosx—-1)+C P ety

st g
28. Luﬁdxcszdm:m

(A) tan'x+tan ' ¥*+C

W= S NI=

31. cos~lx dx @ oo
(B) tan”!x +%tan“ ¥ +C
n
© tanx-Ftan P +C (A) = ®) 3
2
nt
(D) tan”'x+ % tan~! x2 + C € 1 D) 5
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: e s A 3x+ 1
26. The maximum value of pip ifx>0 " j(x-— Te=2) G~ 3)
i = A log |x - 1| + B log |x — 2| + C log
i e |x = 3| + C, then the values of A, B and
(©) % D) - "1;. C are respectively.

(A) 5,-7,-5 (B) 2,-7,-5

27. If the side of a cube is increased by o A e R

5%, then the surface area of a cube is

increased by
30. The value of f eSin* gin 2x dx is

(A) 10%
(B) 60% (A) 2e™ (sinx—1)+C
(€) 6% _ (B) 2e™(sinx+1)+C
(D) 20% (C) 2e¥™ (cosx+1)+C

(D) 2e5™ (cosx—1)+C

28. ThcvalucofJ.1+ G dx is

(A) tan'x+tan' X3+ C

31. The value of | cos™'x dxis

L

(B) tan!x +‘:1,"tan'1 ¥+C

n
© tan!x—Ftan! 5 +C (A) = ®) 3
2
(D) tan~! x +';"tan'l X2+ & (C) | (D) %
Space For Rough Work
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z 35, y=2¢+ 1 Xowdess, x = -1, x = |
COS X
92 I ] + e\'d" & tidosn ATerTENY TR x-uid m‘;& SOk n
x
: T, 3630 DAL
(A) 2 (B) 0 ;
€l oy 25 A 3 (B) 2
5
1 (©) ) D) 5
33. J‘dewzddom
i+ xF
0
36 ¢ = (c, + c;) & * S [¥,0einy
(A) %logZ (B) %logz 1 Ity P
1 2 BoroWT XROEBTEITY, :&pmagt
© 3 (D) glog2
RURCLAT BTEOT JeeBTOT wedr ol
34. y> = 8 TWOed WD y = (A) 1 (B) 2
Aovdesdonoon  eRIWT  FTeEs € 3 (D) 4
QALY
8. Ay s dnrde = yh
(A) 2 vicso st y - 2xy dr = ¥* cos x dv UHOZ
4 TEEFTLIT TR, TOTT
(B) 3 w0 RIed
(A) y=x%sinx+cx?
3
(C) E‘dcﬁdmaimb (B) y=125inx+c
(D) % BT IRIAD (C) y=sinx+cx?
(D) y=cosx+cx?
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3 35, The area of the region bounded by the
HOTY, e WET J‘ ::(f :x Ko line y = 2x + 1, x-axis and the ordinates
n x=-=landx=11is
5
2
(A) 2 (B) 0 (A) 32 B) 2
© 1 (D) -2 5
© 5 (D) S
1
og(l+x) . .
33. The value OFJ‘l T 36. The order of the differential equation
¢ obtained by eliminating arbitrary
n n . .
(A) 7log2 (B) 7log2 constants in the family of curves
; S c,y=(c,+ecy) e is
(& Lt (D) 3Zlog2
$ R A) 1 (B) 2
© 3 (D) 4

34, The area of the region bounded by the

curve y> = 8x and the line y = 2x is

37. The general solution of the differential

6
(A) '15’ $q. units i
equation x2dy ~ 2xydx = x# cos x dx is

(B) %sq.units (A) y=x*sinx+cx?
(B) y=x*sinx+c

3
(©) 259 units
(C) y=sinx+cx?

8
(D) 3 sq. units (D) y=cosx+cx?

Space For Rough Work
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38.  cdnsyde wWord (v, y) I HIFUS LY | 41, 20-3]+4k, 21+ -ksaoni-j+2k
2x
T €58 (1, 2) 2omhay Tevd e OB Lot AIoTY wGY A T
Beerioss =38, Jeadodn wefadd
(A) 33 (B) mosewcd A) 6
(C) oepra3 (D) wTTSUD (B) -5
C) -6
A A (D) 5
39. =OBrived i+)+k =i+ 3] + 5k nsd
AABC ob maEness AB 0¥ AC
e Fo
2 2. [axbf+[a-bf =144 % [a|=6
OO, &F0F,=TN T, EQATN A Qe
_P
T BT S eadod ovry wad b & e
A) 6
(A) 3@ (B) 14 N
(B) 3
© 1 @) <14 © 2 S 5
{{égﬁiﬁi;ﬁ?aﬁr'
(D) 4 Poes |
40. 3 =% b o DO 0 LYY
0 43. ot (1, -3, 4) AT TP
[T ﬂmemn%d sin 5 D
(A) STBSCDHO
b e
) = |a # bl
A [a+b] ® = (B) shwoRobmd
- =
25 (C) Dol
©) Ja—z—l ®) [2-71| :
(D) oouSoTo
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38. The curve passing through the point 41. Ifthe vectors

(1, 2) given that the slope of the tangent 2?—3f+412. 2?+f-l?and ﬁ-j+2ﬁ

at any point (x, y) is % represents are coplanar, then the value of A is
(A) Circle  (B) Parabola (A) 6
(C) Ellipse (D) Hyperbola (B): =5

© -6

(D) §

39. Thewovecm?+f+ﬁmd?+3§+5ﬁ

: — —_—
represent the two sides AB and AC

=p- =hD - _’2_ : s O
respectively of a AABC. The length of 42. If|a xbl +|a 'bl —I443nd|a|—6,

the median through A is then |g| is equal to
14
W B @) 6
©) 7 (D) 14 - aads
C) 2
(D) 4

40. Ifa and l_; are unit vectors and 0 is the

angle between a and B', then sing is 43. The point (1, -3, 4) lies in the octant
(A) Second
—» -
- = a+bh
(A) [a+b] ®) JTl (B) Third
(C) Fourth

_’—g - =
(©) s ¥l (D) |a-b]

2 (D) Eighth

Space For Rough Work
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%000 TPTeaoR0 x TR y-%draoﬁﬂ

7 SReRERy CUOLITRATIS, ¢ ezl

- 8! BRodr LLotLTRAET OPUERESY

NP

(B)

A

(A)

wia
(ST

©) (D)

(1, 2, -4) WODHINCT % 23 Y;_3 £

+
= 2 Zovdeasit s 030
293 293
w B @
293 293
© 9 (D) }%
Xovdeas x;2 = 3_"4’ - 2% o

BB 2x — 2y + z = 5 T oS

47. W LPP o Rowns, &Tedssy

ZoedXooN. Z = 11x + Ty &038, Z oo

nosy 23603355.& EBROOTOT WOrDY

N

X+y=> . x+3y=9
(A) ©,53) (B) G,3)
©) 6,0 D) G,2)

48. oz Jedod «ITINIINY RS
NPFOWSN  Rowes,  Idess mjﬁ&
worons (0, 3), (1, 1) 2 (3, 0) ehﬁs.
Pp,q>0 2SS z=px + qy 8NDT z &

8 13 (3, 0) A (1, 1) Y,

sine 8268 (A) p=2q

(A) \f% (B) 53—0 (B) p =%

©m% ©% 'yt
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If a line makes an angle of % with each

of x and y-axis, then the acute angle

»

made by z-axis is

A

A) § (B)

I

1.9 (D)

The distance of the point (1, 2, —4)

o =3 Y3, T,
from the line 3= Tog B8
293 293

o o T

7
9 29
&2 < gy il

The sine of the angle between the

X=25° I =¥ | S8

47. The feasible region of an LPP is shown

in the figure. If Z = 11x + 7y, then the

maximum value of Z occurs at

» X

x+y=3  x+3y=9
(A) (0,5) B) G,3)
© 6,0 D) G,2)

Corner points of the feasible region
determined by the system of linear
constraints are (0, 3), (1, 1) and (3, 0).
Let z = px + qy, where p, q > 0.
Condition on p and q so that the

minimum of z occurs at (3, 0) and

straight line o o . and (1,1)is
theplaner—2y+z=5is (A) p=2q
W ® 5 ®) p=3
© 2 o e
5\2 10 D) p=q
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S1. A, B 3032 C 20w 30000 3,310 ot

49. A % B usdne P(A) = % P(B) = %
IDRODR)  AIIZWA @S

I
i bk s Rt e i RorRecdet G0N 3, 5 % 3
P(A'/B) o3 amn, faz%de mﬁso::aigt LR
Xogsecdotn
2
W s !
A T
1
(B) 3 1
3 ®) 7
!
© > © 3
1
1 D) =
O 33 D) 3

S2. P(El) = P(Ez) =% e oo l';‘l VT
50. o0 mVSEE) 10 TO BTN X |
52 O S 8 P PLERNS.

WO FOTRETR  LNFesS, oI e me@«
A 00w PUSCIRNG), P(Eﬁ%fm -

LTS XorgERecudon 5
: R PAE,) = 3 oI paoen
(A) To2a P(E /A) o0
]
1023 =
® jose St
2
<l ' ®) 3
© Toz2a © 1
1013 1
@) To24 ®) %
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95 TR ol Biite two. Svetiitnet:: Sixt §1. The probability of solving a problem
] ; by three persons A, B and C
1
== == == T 1
then P(A"/B) is respectively. Then the probability of
5 the problem is solved by any two of
(A) 3 them is
1
1 (A) 75
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50. A die is thrown 10 times, the 52. Events E, and E, form a partition of
probability that an odd number will the sample space S. A is any event
come up atleast one time is such that P(E]) o P(Ez) 23 %’ P(Ez’( A) =
1 1 2 ]
(A) 1023 ) and P(A/Ez) =3 then P(El/A) is
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(A) 512 (B) 20

(C) 10 (D) 5
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(C) sin12° (D) cos12°
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83. If A={l, 2 3, 4, 5, 6}, then the 57. IfP(n):2"<n!
nimber of subsets of A which contsin Then the smallest positive integer for
atleast two elements is which P(n) is true if
(A) o4 (B) 63 (A) 2 (B) 3
©) 57 (D) 58 (©) 4 D) 5
o Ea) = 2o ol mmber, of 58. Ifz=x + iy, then the equation |z + 1| =
possible relations from set A to set B is
. |z— 1| represents
1024, then n(B) is
A) acircle B) a bola
(A) 512 (B) 20 (4) e o
(C) x-axis (D) y-axis
(©) 10 (D) 5
59. The value of
§5. The value of sin? 51° + sin? 39° i
e value of sin sin is 1'5C9+ '6C|o‘ '6C6— “5C7 i
A) 1 (B) 0
(A) 0 (B) 1
C) sinl2° D) cos12°
56. Iftan A + cot A = 2, then the value of 60. The number of terms in the expansion
tan* A + cot* A = of(x+y+2)0is
(A) 2 (B) 1 (A) 66 (B) 142
(C) 4 D) 5 © n (D) 110
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IMO0730K (DAY-1, SECOND SESSION)

circles should also be shaded completely.
4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.
5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.
DONTSs:
. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/SPOILED.
2. The 3™ Bell rings at 2.40 pm, till then;
¢ Do not remove the seal present on the right hand side of this question booklet.
M * Do not look inside this question booklet or start answering on the OMR answer sheet.

SUBJECT CODE TIME Question Booklet
VERSION
SERIAL NUMBER
M 2.30 PM TO 3.50 PM CODE_ @
. o
3
LL
TOTAL MAXIMUMTIME | MAXIMUM Total No. of MENTION YOURCET 3
DURATION | FORANSWERING | MARKS Questions NUMBER a
G
80 Minutes 70 Minutes 60 60 2
Q2
DOs: n
1. This question booklet is issued to you by the room invigilator after 2.30 pm. ‘]>J
2. Check whether the CET Number has been entered and shaded in the respective circles on the OMR answer sheet, 8
3. The version code and serial number of this question booklet should be entered on the OMR answer sheet and the respective =
Y
o
2
®
o
(©]

IMPORTANT INSTRUC THONS 1O CANDIDATES

- / 1. Incase of usage of signs and symbols in the questions, the regular textbook connotation should be considered unless st
otherwise.

2. This question booklet contains 60 questions and each question will have one statement and four different options /
responses & out of which you have to choose one correct answer.

3. After the 3" Bell rings at 2.40 pm, remove the paper seal of this question booklet and check that this booklet does not
have any unprinted or torn or missing pages or items etc., if so, get it replaced by a complete test booklet. Read each item
and start answering on the OMR answer sheet.

4. Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet.

HooInT 3 EION WRONG METHODS

CORRECT METHOD @© ONONCESION N NO
P000PPOO® ®® 0O ®

5. Please note that even a mimite unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

6. Use the space provided on each page of the question booklét for Rough Work. Do not use the OMR answer sheet for the
same,

7. Last Bell will ring at 3.50 pm, stop writing on the OMR answer sheet and affix your left hand thumb impression on
the OMR answer sheet as per the instructions.

8. Hand over the OMR answer sheet to the room invigilator as it is.

9. Afier separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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